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Directions (Q. 26-30): Read the following information carefully to answer the questions 

asked –

Distribution of professor on their education in different universities 
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(A)11.11% (B)22.22% (C)33.33% (D)44.44% (E)None of these

Q.26 :- The  post graduate professor in university A is what % of overall professor in that 
university?
विश्वविद्यालयA में स्नातकोत्तर प्रोफेसर, उस विश्वविद्यालय में कुल प्रोफेसर का वकतना प्रवतशत
है?
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(A) 3:4 (B)4:3 (C)6:5 (D)5:6 (E)None of these

Q.27 :- What is ratio of number of Ph.D. in university A,C and E and  graduate professor 
from university B, C and E?
विश्वविद्यालय ए, सीऔर ई में पीएचडीऔर विश्वविद्यालय बी, सीऔर ई से स्नातक प्रोफेसरकी
संख्या का अनुपात वकतना है?
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(A)150 (B)170 (C)180 (D)160 (E)None of these

Q.28 :- What is average of graduate professor in all the university together ?
सभी विश्वविद्यालय में एक साथस्नातक प्रोफेसर काऔसत वकतना है?
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(A) 50 (B)80 (C)60 (D)70 (E)None of these

Q.29 :- What is the difference between the average of Post Graduate and Ph.D. professor in 
all the university together ?
सभी विश्वविद्यालय में वमलाकर पोस्ट गे्रजुएटऔर पीएच.डी प्रोफेसर के औसत के बीच वकतना
अंतर है?
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(A) 30% (B)32% (C) 35% (D) 36% (E)None of these

Q.30 :- If the number of graduate in all the university is increased by 20 % then by what % 
they will be more or less then the Post Graduate from all the universities?
यवि सभी विश्वविद्यालय में स्नातककी संख्या में 20% की िृद्धिकी जाती है, तो िे सभी
विश्वविद्यालयो ं के स्नातकोत्तर से वकतने प्रवतशत अविक या कम होगें?
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What should come at place of the question mark (?) in the following number series ?

Q.11:- 16.5, 27.5, 38.5, 49.5, 60.5, ?

(A) 81.5 (B) 71.5 (C)91.5 (D) 98.5 (E)87.5

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

What should come at place of the question mark (?) in the following number series ?

Q.12:- 15, 31, 97, 397, 2001, ?

(A)12039 (B)12031 (C) 12059 (D) 11099 (E)12899
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What should come at place of the question mark (?) in the following number series ?

Q.13:- 132, 156, 182, 210, 240, ?

(A)262 (B) 282 (C) 311 (D) 289 (E) 272

E04613
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What should come at place of the question mark (?) in the following number series ?

Q.14:- 26, 52, 156,780, 5460, ?

(A) 49140 (B) 60060 (C) 54080 (D) 49080 (E)65690
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What should come at place of the question mark (?) in the following number series ?

Q.15:- 12167, 13824, 15625, 17576, ?

(A)19682 (B)19683 (C)21952 (D) 19854 (E)14679

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)62.50 (B)65.66 (C)63.35 (D)61.75 (E) 64.48

Q.21:- How many liters of a 12 liter mixture containing milk and water in the ratio of 2 : 3 be 
replaced with pure milk so that the resultant mixture contains milk and water in equal 
proportion 2: 3?
चायी िो गुणित्ताको 4:1 के अनुपात में वमलाया जाता हैऔर वमश्रणको 12.5% के लाभ के वलए 72 
रुपये प्रवत वकलोग्राम पर बेचा जाता है। यवि िूसरी गुणित्ताकी चायकीकीमत पहली गुणित्ताकी
चायकी तुलना में 3.25 रुपये प्रवत वकलोअविक है। पहली गुणित्ता िाली चायकी प्रवत वकलोकीमत
क्या है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)4 liter (B) 3 liter (C) 2 liter (D)6 liter (E) None of these

Q.22:- How many litres of a 12 litre mixture containing milk and water in the ratio of 2 : 3 be 
replaced with pure milk so that the resultant mixture contains milk and water in equal 
proportion? 
2: 3 के अनुपात में िूिऔर पानी िाले 12 लीटर वमश्रण: से वकतने लीटरको शुि िूि से बिल विया
जाए तावक पररणामी वमश्रणमें िूिऔर पानी समानअनुपात में हो?

E04613
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(A)8km/h (B)9km/h (C) 7km/h (D) 6km/h (E) None of these

E04613

Q.23:- Man travels 35 km partly at 4 km/hr and at 5 km/hr. If he covers former distance at 5 
km/hr and later distance at 4 km/hr, he could cover 2 km more in the same time. The time taken 
to cover the whole distance at original rate is ? 
आिमी 35 वकमीकी यात्रा आंवशकरूप से 4 वकमी / घंटाऔर 5 वकमी / घंटा की गवत से करता है।
यवि िह पहले की िूरी 5 वकमी / घंटाऔर बाि में 4 वकमी/घंटा की गवत से तयकरता है, तो िह उसी
समयमें 2 वकमीअविक िूरी तयकरसकता है। पूरी िूरी को िास्तविकिर से तयकरने में लगने िाला
समय है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)120/13 (B) 110/13 (C)100/11 (D) 120/11 (E) None of these

Q.24:-Three pipe P, Q and R can fill a tank in 12 minutes, 18 minutes and 24 minutes 
respectively. The pipe P is closed 8 minutes before the tank is filled. In what time the tank is full?
तीन पाइप P, Q औरR एकटैंककोक्रमशः 12 वमनट, 18 वमनटऔर 24 वमनट में भरसकते हैं। टैंक
भरने से 8 वमनट पहले पाइप P को बंिकर विया जाता है। टंकी वकतने समयमें भरजाती है?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)5:4 (B)4:3 (C)3:4 (D)2:3 (E) None of these

Q.25:-Two trains running in opposite directions cross a child standing on the platform in 44 
seconds and 35 seconds respectively and they cross each other in 40 seconds. Ratio of their speed 
is
विपरीत विशाओं में चलने िाली िो टर ेनें पे्लटफॉमम परखडे एकबचे्चकोक्रमशः 44 सेकंडऔर 35 
सेकंड में पारकरती हैं और िे एक िूसरे को 40 सेकंड में पारकरती हैं. उनकी गवतकाअनुपात है

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)1248 (B)5400 (C) 610 (D)560 (E) None of these

Q.26:-Raman being the sleeping partner receives 1/4 of the profit and the remaining is divided 
between Prateek and Praveen in the ratio of 2.25 : 1. If the difference between the shares of 
Prateek and Raman is Rs 1456, what is Praveen's share (in Rs)?
रमनस्लीवपंग पाटमनर होने के कारणलाभका¼ प्राप्तकरता हैऔर शेषको प्रतीकऔर प्रिीण के
बीच 2.25: 1 के अनुपात में विभावजत वकयाजाता है। यवि प्रतीकऔर रमन के शेयरो ं के बीचका
अंतर 1456 रुपये है, तो प्रिीणका वहस्साक्या है (रुमें) )?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)35.56 (B)31.14 (C)30.89 (D)36.16 (E) None of these

Q.27:-There are 35 students in a class. Number of girls in the class is 5 more than the boys. 
The average weight of girls is 2 kg more than the boys' average. Total weight of girls is 190 
kg more than that of boys. Calculate the average weight of the class 
एककक्षा में 35 विद्याथी हैं। कक्षा में लडवकयो ंकी संख्यालडकों से 5 अविक है। लडवकयो ंका
औसतिजनलडकों के औसत िजन से 2 वकलोअविक है। लडवकयो ंका कुल िजनलडकोंकी
तुलना में 190 वकलो अविक है।कक्षा केऔसत िजनकी गणनाकरें

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)20000 (B)16000 (C)15680 (D) 24580 (E) 22650

Q.28:-Sum of money is invested in Scheme A, 12% per annum, After 2 years amount is 
received, that amount invested in scheme B at 10% per annum for compound interest. If the 
interest received at the end of 2 years is 5208. Find the sum ?
रावशका वनिेश योजनाA में 12% प्रवतिषम वकया जाता है, 2 िषम की रावश प्राप्तहोने के बाि, . 
योजना B में 10% प्रवत िषम चक्रिृद्धिब्याज के वलए वनिेशकी गई । यवि 2 िषम के अंत में प्राप्तब्याज
5208 है। रावश ज्ञातकीवजए?
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A)2877 (B)2955 (C)3955 (D)4015 (E) None of these

Q.29:- In the year 2020, the ratio of males to females in a village was 4:7. In the year 2021, 
the male population increased by 12% and the female population increased by 13%. If the 
total population in the year 2021 was 61,95 what was the female population in the village in 
the year 2021? 
िषम 2020 में, एकगााँि में पुरुषो ंका मवहलाओं से अनुपात 4:7 था। िषम 2021 में पुरुष जनसंख्या में
12% औरमवहला जनसंख्या में 13% की िृद्धि हुई । यवि िषम 2021 में कुलजनसंख्या 61,95 थी, तो
िषम 2021 में गााँि में मवहला जनसंख्या वकतनी थी?

E04613
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What value should come in the place of question mark(?)in the following questions?

Q.2:- ?÷ 0.5 × 12 = 2244

(A) 1/7 (B)5/22 (C)7/22 (D) 7/33 (E) 7/66

Q.30:A bag contains 7 blue balls and 5 yellow balls. If two balls are selected random, What is 
probability that none is yellow? 
एक बैग में 7 नीली गेंिें और 5 पीली गेंिें हैं। यवि िो गेंिो ंको यादृच्छया चुना जाता है, तो कोईभी
पीली नही ंहोने की प्रावयकताक्या है?-

E04613

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

Directions (Q. 31-35):Direction for Question

Read the following chart carefully and Answer the questions given below: The 

following pie-chart shows the preference of musical 

वनम्नवलद्धखत चाटम को ध्यान से पढे और नीचे विए गए प्रश्ो ं के उत्तर िें:वनम्नवलद्धखत पाई चाटम

संगीत की िरीयता को िशामता है
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(A)9.5% (B)6.5% (C)7.5% (D)8.5% (E)None of these

Q.31 :- if 2100 people be less from the number of people who prefer Flute, the percentage of 
people who prefer Flute would have been: 
यवि 2100 लोग बांसुरी पसंिकरने िालो ंकी संख्या से कम हो,ं तो बांसुरी पसंिकरने िालो ंका
प्रवतशत होगा:
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(A) 1600 (B)1400 (C)1200 (D)1100 (E)None of these

Q.32 :- The total number of people who prefer either Sarod or Guitar, is greater than the 
total number of people who prefer either Violin or Sitar by: 
सरोि या वगटार पसंिकरने िाले लोगो ंकी कुल संख्या, िायवलनया वसतार पसंिकरने िालो ंकी
कुल संख्या से अविक है:
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(A)7400 (B) 7200 (C)8400 (D)8600 (E)None of these

Q.33 :-The number of people who prefer the musical instrument Sarod is : 

संगीत िाद्ययंत्र सरोिको पसंिकरने िालो ंकी संख्या है:
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(A)13.5% (B) 14.5% (C)15.5% (D) 12.5% (E)None of these

Q.34 :- If 16 2/3 % of the people who prefer Piano,  would go with the people who prefers 
Flute, the percentage of people who prefer Flute would have been:
यवि 16 2/3 % लोगजो वपयानो पसंिकरते हैं, बांसुरी पसंिकरने िाले लोगो ं के साथजाते हैं, तो
बांसुरी पसंिकरने िालो ंका प्रवतशत होगा:
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(A)1200 (B) 1100 (C)1400 (D)1300 (E)None of these

Q.35 :- The number of people who prefer Guitar is greater than the total number of people 
who prefer either Flute or Piano by: 
वगटार पसंिकरने िाले लोगो ंकी संख्या, बांसुरी या वपयानो पसंिकरने िालो ंकी कुल संख्या से
अविक है:
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Q.35 to 40 :-Direction for Question
These Questions are based on following information. Study the information carefully and 
Answer the questions: 
ये प्रश् वनम्नवलद्धखतजानकारी परआिाररत हैं। जानकारी काध्यानपूिमकअध्ययनकरें और प्रश्ो ं
के उत्तर िें:
Total population of a village is 35000. Out of these 70% are literate. 44% of the total 
population are females. Out of the total illiterate population, males and females are in the 
ratio of 28 : 47 respectively. 
एकगााँि की कुलजनसंख्या 35000 है। इनमें से 70% साक्षर हैं। कुल जनसंख्या में 44% 
मवहलाएं हैं। कुल वनरक्षरजनसंख्या में पुरुषो ंऔर मवहलाओंका अनुपातक्रमश: 28:47 है।
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(A) 47:63 (B)63:47 (C)16: 47 (D) 47:16 (E)None of these

Q.36 :- What is the ratio of illiterate to literate females? 

वनरक्षरऔरसाक्षर मवहलाओंका अनुपातक्या है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)17:8 (B)8:17 (C)9:16 (D)16:9 (E)None of these

Q.37 :- Out of the total literate population what is the ratio of males to females? 

कुलसाक्षरजनसंख्या में से पुरुषो ंका मवहलाओं से अनुपात वकतना है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)15400 (B)18600 (C) 17800 (D)19600 (E)None of these

Q.38 :- What is the total number of male population? 

पुरुषजनसंख्या की कुल संख्या वकतनी है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A)784 (B)980 (C) 196 (D)120 (E)None of these

Q.39 :- If 5% of the male literate population are graduates, how many male graduates are 
there in the village?
यवि पुरुषसाक्षरजनसंख्याका 5% स्नातक हैं, तो गााँि में वकतने पुरुषस्नातक हैं?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

(A) 6850 (B)6580 (C)6480 (D)8820 (E)None of these

Q.40 :- What is the total number of illiterate females?
वनरक्षर मवहलाओंकी कुल संख्या वकतनी है?
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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE :

THANKS
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